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7. g(x)=-x*-17 8. hlx)=|-2x
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10. j(x) = 3 - x;j{x) = -5

F2obl=|-8=0 .0

Evaluate the function when x =-3, -2, and 1.

-6| 9. flx)=1x-1
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2 m(x)= 2x+8m(x) =2 13 Kx) = I 1 Kkx) = -4
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Find the x- ahd y-intercepts of the graph of the linear equation.
14. 2x-3y = -10 15. 2x+ 5y = -8 16. -4 -x =14 -3y

(0)-3y=-0 P8 -4-0=14-3y
=3y=-10 =8 -Y=14-3y
Y, = Hseo oy
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Graph the linear equation.

Q.YSSZ 9 17. 2x -3y =9
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The points represented by the table lie on a line. Find the slope of the line.
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21. The function ¢ = 100 + 0.30m represents the cost ¢ (in dollars) of renting a car
after driving m miles.

a. Identify the independent and dependent vartables. M M 65)

b. \\hatuouldthecostbetorentthecar d drive 100 mile
Ce o BBy = %130

¢. How many miles would a customer have to drive for the cost to be $149.50?

49.50 = 180 +0.30m

- |00 -160
44.50= 0-30m
.30 -30

165 = males
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Identify the slope, y-intercept, and x-intercept of the graph of the linear equation.

| y=-x+3 23. 4x—f,|;= 1;|4 24. 3y-4=3—10+4::|b
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¥z (=-%X+3 5‘?%_" :’}5 slope=0
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2. f(x) = 2x- 4 gfx) = 1/(x)




